Virginia High School League Regional Competition, 2000-01 season

Match #10


OTEMS,EMSOT,SOTEM / OTEMS,MSOTE / ETOMS,OMSET,SETOM

These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
What is the name of a short, constantly occurring musical phrase that relates to a character, emotion or object, used especially by Richard Wagner in his operas?

ANSWER: LEIFMOTIF
2.
He was president from 1973 to his 1974 death, and his third wife, Isabel, was president herself until 1976. This man more famous for his first rule as president between 1946 and 1955, by which time he had antagonized the Catholic Church, the armed forces and many of his supporters in the labor movement. Who is this man, president of Argentina, most famous for his second wife, Eva?

ANSWER: Juan Domingo PERON
3.
He was a German who served in the Russian army, and then retired to his Hanover estate. He then proceeded to tell his stories, often exaggerated, of his army, hunting and sporting exploits, eventually having his stories collected and published. Who is this famous Baron?

ANSWER: Baron MUNCHHAUSEN
First period (continued)

4.
THIS IS A COMPUTATION QUESTION. A casino pays back $5 on a $1 wager if the next roll of the dice will be a seven. If the dice were rolled 120 times, and a $1 bet placed each time, how much money would you get back if a seven came up as many time as might be expected?

ANSWER: $100 (the seven comes up 20 times – 1 of 6 chance – and you get $5 back each of those 20 times – so $100)

5.
A given compound will always contain exactly the same proportion of elements by weight. This is an expression of what Law that was first determined by Joseph Proust?

ANSWER: Law of DEFINITE PROPORTIONS
6.
What word with six letters, starting with ‘P’, is given to an appearance or aura produced by habit, practice or use, or to a coloring or incrustation that age gives to works of art, especially the green rust that covers ancient bronze statues, coins and metals?

ANSWER: PATINA
7.
Take the limit as n approaches infinity of the quantity 1 plus 1 over n raised to the nth power. What constant has been obtained, a number that is the base for natural logarithms?

ANSWER: e 

8.
Healthy cells are destroyed and replaced by scar tissue. Jaundice, bloating and psychosis are common symptoms of what disease whose most common cause is excess consumption of alcohol?

ANSWER: CIRRHOSIS

9.
Who was the husband of Rhea and father of Zeus that was overthrown by Zeus after he threw up Zeus’ siblings?

ANSWER: KRONOS
10.
What name is given to the freeing from custody of a person charged with a crime and awaiting trial, frequently associated with the money usually given as a guarantee that the accused will appear at the trial and not interfere with witnesses?
ANSWER: BAIL

First period (continued)

11.
What is the name of the chain-like molecule that forms a major part of the cell walls of fungi and of the exoskeleton of insects?

ANSWER: CHITIN
12.
What French painter painted House of the Hanged Man and The Card Players?

ANSWER: Paul CEZANNE

13.
Captain Thomas Preston and eight of his men were arrested for murder as a result of this incident on March 5, 1770. After this incident, however, tensions between the colonies and Great Britain lessened for the next three years. It began about 9 p.m. that evening when a beleaguered sentry on King Street in Boston near the State House, called the main guard led by Preston, to his assistance. What was this event at which only five people were killed?

ANSWER: BOSTON MASSACRE
14.
The protagonist, known only as the second Mrs. De Winter, compares herself to her husband, Maxim’s first wife, until she learns the true nature of the marriage. What is this novel by Daphne du Maurier?

ANSWER: REBECCA
15.
THIS IS A COMPUTATION QUESTION. A clock runs two minutes fast per day. How many days will it take for the clock to be on the correct time again?

ANSWER: 720 days (24 * 60 = 1440, 1440 / 2 = 720)

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What Massachusetts graduate and Knicks center received a five-game suspension and $25,000 fine for sucker-punching the Spurs’ Danny Ferry?

ANSWER: Marcus CANBY
1B.
THIS IS A COMPUTATION QUESTION. What is the equation 8x + 2y = -15 into slope-intercept form?

ANSWER: Y EQUALS NEGATIVE FOUR X MINUS FIFTEEN HALVES (8x + 2y = -15 leads to 2y = -8x – 15 leads to y = -4x – 15/2)

2A.
Who was the commander of the American Expeditionary Force during World War I?

ANSWER: John J. PERSHING
2B.
What is the name given to the violet form of quartz, prized as a semi-precious stone, which is used as the birthstone for February?

ANSWER: AMETHYST
3A.
What eight-letter word roughly based on the Latin word for fist is used to describe a professional boxer?

ANSWER: PUGILIST
3B.
Which two books in the New Testament are addressed to Theophilus?

ANSWER: ACTS and LUKE
4A.
THIS IS A COMPUTATION QUESTION. What is the surface area in square inches of a rectangular solid which is 6 inches by 4 inches by 8 inches?

ANSWER: 208 square inches (6 * 4 = 24, 6 * 8 = 48, 4 * 8 = 32, each side is represented twice so the surface area is 208)

Second period (continued)

4B.
John Bell and Edward Everett were the Presidential ticket for what party that fielded a candidate for the 1860 Presidential election?

ANSWER: CONSTITUTIONAL UNION
5A.
Alpha particles are nuclei of what kind of atom?

ANSWER: HELIUM
5B.
What verb mood is used to express a command or an order?

ANSWER: IMPERATIVE
6A.
Investigators from what country are travelling to the US to investigate evidence that has been gathered in the bombing of the USS Cole?

ANSWER: YEMEN
6B.
THIS IS A COMPUTATION QUESTION. What is the y-intercept of a line running through (4,3) and with a slope of negative –2?

ANSWER: NEGATIVE 11 (y = -2x + b leads to 3 = –2(4) + b, which becomes 3 = -8 + b, and then 11 = b)

7A.
Who was the Roman Emperor that split the Empire into two in 286 AD?

ANSWER: DIOCLETIAN
7B.
Ascorbic acid is better known as what essential vitamin?

ANSWER: Vitamin C
8A.
Who is the creator of the character Walter Mitty?

ANSWER: James THURBER
8B.
The Ballet of the Unhatched Chicks, Baba Yaga’s Hut and The Great Gate of Kiev are all parts of what work by Modest Mussorgsky that was orchestrated by Maurice Ravel?

ANSWER: PICTURES AT AN EXHIBITION (prompt on Mussorgsky or Ravel)

Second period (continued)

9A.
What is the minimum number of non-coplanar points that are necessary to make up space?

ANSWER: FOUR
9B.
What is the capital of Croatia?

ANSWER: ZAGREB
10A.
What quantity of electricity is transmitted by one ampere in one second?

ANSWER: one COULOMB
10B.
Casper Gutman, Joel Cairo, Brigid O’Shaughnessy and Sam Spade are all seeking what object in a book by Dashiell Hammett named for the object?

ANSWER: THE MALTESE FALCON

Third period: 15 toss-ups

1.
In what Jane Austen novel, a satire of both polite society novels and of Gothic horror novels, does Catherine Morland gain world wisdom among the society of Bath and then at the title house, where she learns not to interpret the world through her reading of Gothic thrillers?

ANSWER: NORTHANGER ABBEY
2.
A five-day waiting period was to be replaced after five years by a computerized system that would prevent handgun sales to felons in what landmark gun control bill passed in 1993?

ANSWER: BRADY BILL
3.
Lori Berenson is facing trial in what country for helping what country’s Tupac Amaru rebels?

ANSWER: PERU
4.
THIS IS A COMPUTATION QUESTION. A gambler puts a bet of $10 on the first race, $20 on the second and $30 on the third. How much has the gambler made for the day if he wins the second race and the horse pays $18 on a $2 wager?

ANSWER: $120 (10 * $18 = $180 won – and $60 bet in all)

5.
If particles between 0.8 and 1.8 microns in diameter in heavy in the atmosphere, this can occur at night, as the red light reflected by the moon is blocked. What is this phenomena more often used to describe the second full moon in a given month?

ANSWER: BLUE MOON
6.
Jason Newsted has left as the bassist to what band which was prominent during the Napster controversy?

ANSWER: METALLICA
7.
THIS IS A COMPUTATION QUESTION. What is 60 divided by 1/3?

ANSWER: 180 (remember, dividing a fraction is multiplying by the reciprocal)

Third period (continued)

8.
The redshift observed in distant stars and galaxies is merely an example of what ‘effect’ in action, where waves seem to be ‘streched’ out as the wave source and receiver become further apart?

ANSWER: DOPPLER effect

9.
His books of verse include Tulips and Chimneys, and another of his collection was simply titled with an ampersand. Who is this New England poet best known for his eccentric punctuation and eschewing of capital letters?

ANSWER: e.e. cummings
10.
What sort of merger, commonly referred to by its three-letter abbreviation, was common in the 1980s and involved the selling of bonds and assumption of debt by the buying company to finance the buyout of the other company?

ANSWER: LEVERAGED BUY-OUT or LBO
11.
Beri-beri is the deficiency of what vitamin?

ANSWER: Vitamin B1 or THIAMINE
12.
This form of poetry consists of five lines using anapestic meter. The rhyme scheme is aabba, the third and fourth lines have two feet, and the others have three feet. What is this type of poem, frequently humorous or ribald, named for a county in southern Ireland?

ANSWER: LIMERICK
13.
His empire extended from the Rhine River to the frontiers of China but collapsed after his death. He invaded France in 451, but was defeated by a combined Roman-Visigothic army. In 452, he invaded Italy, with Pope Leo I buying him off to save Rome. Who is this barbarian king known as the ‘Scourge of God’, ruler of the Huns?

ANSWER: ATILLA the Hun

Third period (continued)

14.
This 17th century Frenchman died when his last patron, Queen Christina of Sweden, insisted he get up at 5 am every morning. He caught a cold, and then died. Who is this philosopher that wrote The Principle of Philosophy and Discourse of the Method, which included a section on geometry, for which he is also famous?

ANSWER: Rene DESCARTES
15.
Select NAME, ADDRESS from EMPLOYEES where AGE < 20 (Age is less than 20) is an example of a statement in what computer language which is used to pull records from databases?

ANSWER: STRUCTURED QUERY LANGUAGE or SQL
Spares

THIS IS A COMPUTATION QUESTION. What is the midpoint of the line between (3,1) and (10,8)?

ANSWER: (7 ½, 4 ½) 

Soaps are just one example of what class of particle that lowers the surface tension of water, thus making it mix better with oils and fats, a property that enables it to be used in cleaning solutions?

ANSWER: DETERGENTs

What painter is best known for his painting The Martyrdom of the Ten Thousand?

ANSWER: Albrecht DURER
His half-brother Dingane killed him in 1828. During his rule, he consolidated his country’s power and conquered much of southern Africa. Who was this first king of the Zulu?

ANSWER: SHAKA Zulu

Which Nathaniel Hawthorne book centers on a curse from old wizard Maule and the Pyncheon family who currently reside at the titular residence?

ANSWER: THE HOUSE OF THE SEVEN GABLES
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